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1. The most important purpose of frog 1. €% % % 9l HEwEqul HR §
in a brick is to

(A) TR AR A FeiFd T F R

(A) emboss manufacturer’s name

(B) 32 1 a9 HH = F U
(B) reduce the weight of the brick

(C) form keyed joint between brick
and mortar

(D) improve insulation by providing (D) Wi R e w % forg

(C) R @ waen (AK) ¥ 9 S
% fog

hollows

2. ﬁaramzuézt)g
2. The depth of frog is taken as .
, (A) 10 *20 mm
(A) 10 mm to 20 mm | @
m

(B
(B) 30 mm

5 mm
(C) 35 mm Q

* (D) 39w ¥ & B 7

(D) None of the above

? 3. € F IYH IHR ¥ T ¥ R
n

3. Which of the followin ents frefafes & @ gelt w1 WU gaeE
In earth gives plastli to mould T Yo w37
.

bricks in suitable shap

. faferem
(A) Silica \\' (4)
(B) Lime Q | (B) I (<Em)
(C) Alumina (C) wwyfirm
(D) Magnesia (D) Befifdrnm

SPACE FOR ROUGH WORK / W &™ & fyu wre

8201/NE~JCV/RCE-M/12-A 3 [ P.T.O.




4. Efflorescence of brick is due to

(A) soluble salts present in clay for
making bricks

4. $2F T B HR R

(A) £ R F fa feeh g & gomsefia

w07 it Iuferfa

(B) high porosity of bricks
(C) high silt content in brick earth

(D) excessive burning of bricks

Crushing strength of a brick shall
not be less than

(A) 105 kg/cm?
(B) 105 kg/cm?
(C) 105 kg/cm2

(D) None of the above

. To produce low-heat cements, it i

necessary to reduce the compou
.

(A) C3S
(B)-C,S— &
(C) C3A &
(D) C,AF \

. *
Which i@nt imparts colour,
hardne& trength to cement?
(A) mina

(B) Iron oxide
(C) Magnesia
(D) Alkali

(B) $2I =T 3= atra
(C) & H W & 3= me H wwE
(D) ¥ 1 AAMSF S

. % F Uoe wmed ¥ W A B

e

(A) 105 k 3
(B) 1-0%kg/cm?
L 2
( -5 kg /cm?
) T ¥ g T

e g T Wil s % ferm
o011 HH A h S E B

(A) C5S

—(B)*GZS’—‘ [

(C) CaA
(D) C,AF

. PA-T1 aga dite H T, gedl @ amed

T T 77
(A) T
(B) ¥RRA Haage
(C) Befifern
(D) 3reehedt
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8. Finer the cement, more is the 8. oot o oz 2ft, 3o+l & erfir

(A) early strength : (A) wTEe Bt

(B) workability (B} Hameie wrft
(C) shrinkage cracking (C) W= G Brft

(D) All of the above (D) g wft

9. Standard briquette is used to 9. Hie = d amed 39 = ¥ fou o

determine the tensile strength of ﬁa,—gg-aa; FA T
cement.
(A) Qgmd 0

(A) Agreed
(B) r@gHd
(B) Not agreed .
. © e
(C) Partially agreed
D BHl
(D) None of the above (D)
: 10. e wlieu fraen FuiRe w0 %
10. Soundness test of cement is done to St 27

determine its

(A) durability in seawater * 0 (A) Tgs % Tt § gEH wrfe
(B) free lime content % (B) ST TR wiee

(C) iron oxide content \&Q (C) 3T AT Fiewe

(D) alumiﬁa content (D) Q?ﬁﬁﬁmﬁ?
.
o vt ibocom s | 1 <t 3 o o et o
in waterlo ? SUYE 27
(A) Limer mo (A) 5[3{ EAR:ICEd
(B) Gauged mortar (B) 8 W&
(C) Cement mortar (C) whie Mt
(D) Mud mortar (D) HFr8 {IX
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12. In cement mortar, the role of sand is 12, e T # 9 W AT ?
as (A) Toemadt o % w9 A
(A) adulterant
_ X IHEH o
(B) bulking of sand (B)
(C) setter (€ FE R
(D) None of the above (D) 3gth & @ #i¢ T
13. In cement mortar, in place of sand 13. Wz T d @ H TN R Ghd ¢
which other material can be used? ‘ §
(A) Surkhi @) gl 0
(B) Cinders (Bl
(C) Both (A) and (B) ( \Q‘!ﬂ (B) il
(D) None of the above H ¥ 8 &
14. For plastering on interior vmth e MR A onahs wrefs ¥ R
cen'1er.1t mortar, the cement-s Fiea #i S CRl 2
ratio 1s 0
@) 1:4 e& (4) 1:4
B) 1:6—— Q (B)-1.:6
© 1:2 & ©) 1:2
(D) 1:3 ,\\ (D) 1:3
*
15.

The appng -.% e strength of cement
mortar h\, cement-sand ratio
1: s

(A) 50 N/mm?

(B) 7-5 N/mm?

(C) 100 N/mm?

(D) 12:0 N/mm?

15. iz SR 1: 3 % W WA A

&I T 2

(A) 50 N/mm?
(B) 7-5 N/mm?
(C) 100 N/mm?

(D) 12:0 N/mm?
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16. The compacting factor test of | 16. iie- 6 =g R 1o fytig
cement-concrete determines its G
(A) strength (A) =G guar
(B) porosity (B) T Ty
(C) degree of compaction under .
londs (C) 38 EIe % qgq ¥ued i fuft
(D) workability (D) FeHT ST
17. The role of superplasticizer in a 17. @ ‘Fﬁﬂzﬁ'{? L L2l "Lfﬁ?ﬂ ®
cement paste is to (A) Fit Y e
(A) disperse the particles NEY RN
(B) disperse the particles and
remove air bubbles
, B % FAge! Bl geM

(C) disperse the particles, remove
air bubbles and retard setting

(D) retard setting

18. Ultrasonic pulse velocity method is
used to determine the

(A) compressive
‘concrete

(B) impact resistance o&&ete

(C) tensile strength of

(D) quality of CK -
19. My, mea.r%\
(A) grade (ratie) 1:1:2

(B) grade (ratio) 1:11:3

rete

(C) grade (ratio) 1:3:4
(D) grade (ratio) 1:1:1

.
strengt@

T Ul N AT TR S f
Frifa %= % e

(A)_shle & TheT grar

19.

(B) HhIZ % IWTa TRy
(C) hshie Y T=ran a1
(D) Hshre i U =

Maso 1 315f 3

(A) I (Irguma) 1:1:2
(B) ¥e (31gem) 1:14 :3
(C) ¥ (3rgm) 1:3: 4
(D) ¥ (¥g9m) 1:1:1
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20. Workability of concrete is

determined by

(A) soundness test

20. wHshie il gwrlar I H e B
(A) WIS 2 TR

(B) Vicat apparatus test
(C) manual
(D) slump test
21. The number of unknown internal

forces in each member of rigid-
jointed plane frame is

(A) 1
(B) 2
(€ 3
(D) 6
22. The independent number of

equations to be satisfied for static
equilibrium of a plane structure is

Aa) 1 * O
H\
() 6 - Q 1
(D) 2 &

23. If there are m\x\nown member

forces, r %n reactions and
jnumb s, then the degree of
staticg minacy of a pin-jointed
plan e is given by

(A) m+r-2j
B) m+r+2j
(C) m-r+2j
D) m-r-2j

(C) Tigeta g
(D) & TR T

21, I TS Wi FY b Y% WER A

NN
e
&
@R g % T = TER A Ggi &
fore wdiertont Y T W@ ®
@A) 1
B) 3
(C) 6
(D) 2
23. IR 3@ TR T m, I Fale -
Td SR Y wE €, @ T fH-sanes
wH %9 & fer sffraa i
(A) m+r-2j
(B) m+r+2j
(C) m-r+2j

D) m-r-2j
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24. Independent displacement compo- 24. TH IMH-STEE W ¥ F T S
nents at each joint of a rigid- jointed W &G Ty ses &
plane frame are .
A) N ZrERH
(A) three translations ( )_ : .
(B) two translations and one (B) 3 % Rald
rotation (©) T e w & o
(C) one translation and two (D) & Wxw
rotations
(D) three rotations 25. & -9 W ¥H & E2ECEIEe)
Hfferaa
25. The degree of kinematic feal #
indeterminacy of a pin-jointed plane (A) 2j-r
frame is given by B j- 2r ()
A) 2j-r
: C)
B) j-2r (
© 3j-r g
(D) 2j+r 26. G faveme Rl § @
26. Which of the following methods of fafer - 27
structural analysis is a Q (A) W foawor fafy
displacement method? . B 1 fy
(A) Moment distribution metho B) ;
(B)- Column analogy met (C) dR-Tie we
(C) Three-moment equ (D) 3q'§'{-5 H 9§ &g T
D) N f the ab
(D), None pisthe g OV 27. @l Amr H, e o a% for %,
27. In a prismatic b Whose far M. IGH 1 FF §
end is fixed, t over factor is @) 0
(A) 0 ]
1 B) -
(B) 5 2
3
3 2
(©) . (€) 2
(D) 1 (D) 1
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28. In the slope deflection equations, the
deformations are considered to be

28. T farams g O faeul & R
TR a8

caused b .
Y I.  oehd HIQ?E
I.  bending moment B
II. shear force N
III. axial force III. & e
IV. None of the above IV. 39w § q & 711
The correct answer is e IW 2
(A) only I (A) R% I @
(B) I and II (B) 178 1
(C) I, II and III .
(C)ol, II I
(D) Only IV .
( v
29. Muller-Breslau principle for
obtaining the influence lines is 2 @ 3t @l g A T qER-sE
applicable to Rrgra F"TL%
(A) trusses Q A) IR ¥ for
B) statically indet inate stru SPersh iR
:C; static Ym(:errmn.aaells‘ cﬁ B) ¥ R
trusses an statically ..
minate structure @i (C) Yol W Ricwhelt Tiewm TFR &
(D) None of the ab@ fem
D) 39 § ¥ ¢ T
30. earn® deflects by (D)

A simply suppor

5 mm when 1t,\ bjected to a
concentrated d’ f 10 kN at its
centre. What e the deflection in
a i5th ofth el of the beam, if

the n@e&ssubjected toa 1 kN load
at its centre?

(A) Smm

(B) 0:5 mm

(C) 0:005 mm

(D) None of the above

30. T& WEAYE® GHdd 98 5 mm g

faafm a1 }, @ | w g 9w
10 kN % 3¢ et B 20 & Laf dfew
R faguor =0 Bvm, Afe wied 1 kN IR &
Iefie § 39 g WP

(A) S mm

(B) 05 mm

(C) 0005 mm

(D) 3% ¥ & IS T

SPACE FOR ROUGH WORK / T &M & fag s
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31l. In moment distribution method, the 31, M= faam ot § ot gew 1 fordt
sum of the distribution of all the @Wmﬁaﬁmzﬁwgﬁm@m%
members meeting at any joint is
(A) zero 19 &y
(B) less than 1 (©) 19 3
(C) greater than 1 (D) 1 % TR
(D) equal to 1 32. @& A ghuy

32. Select the correct statement. (A) =T ity
(A) Flexibility matrix is a square 3R 2

symmetrical matrix (B) F2Ra =t aafrg SIS
(B) Stiffness matrix is a square 2 ¢
symmetrical matrix A
(C) Both (A) and (B) © A ) <
o) an
oy G e
(D) None of the above

33. For stable structure, one of the most 33 * 2 F ﬁ’ﬂl e 3;1 3
important properties of flexibility Q & e Ei T
and stiffness matrices is that the 2
clements on the main diagonal I. T% w3 IR * ger faeof w
I. of a stiffness matrlx st L A ENEEH N AR

positive II. e g % ger et w aw
II. of a flexibility m st be HhRNTeHs: I 91fRe

ositive .

B X(\ II. ST TR HTees B TR
III. Both matrices € negative

¢ o T f’ . IV. T g % g Red ® aw
IV. of a .ex% trix must be TR B TR

negative
The corre&er is T IW 7
(A) I and IV (A) T 1v
(B) Only I (B) Tk 11
(C) 1 and II () 1w I
(D) Only IV (D) fa% 1v

SPACE FOR ROUGH WORK / 1% %@ % fifu s
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34. Behding moment at any section in a 34. Hgnﬁ g T frdt off &3 W S W‘{’f

conjugate beam gives which of the Arfaes gue | ot ®
following in the actual beam?
(A) =Tt
(A) Slope
B) g&
(B) Curvature B
: (C) T
(C) Deflection )
(D) Bending (D)
35. Identify the differential equation for 35. @ T faamr W A F fog
finding the slope and deflection. IR 1
d?y d?y

(A) EI —5 =-M (A) EI-—5
. O

S %Y i

(D) None of the above 0$ (D) Wﬁﬁaﬁ?qﬁ
.

36. A stecl beam is define a | 36. THh M SUS ! LFdl WK % ¥ H
structural member suhje | _vfonfe fRrsmae.
(4) axial loading & () st e ¥ e

(B) transverse lxx,g (B) TR Aifen & e
an

(C) axial and p erse loadings () e T TR e ¥ e
(D) Non% bove (D) 3‘1’§?B B & g
ty is the ratio of

37. Factow(o
%\ 37. TRE H HIE UM 2
A) vield®stress to working stress
W ¢ (A) e S 7 afn g w

(B) ultimate stress to working

stress (B) e W T AT H
(C) ultimate stress to yield stress (C) erdime wH RIS H &
(D) yield stress to ultimate stress (D) iee WH T A WA H

SPACE FOR ROUGH WORK / T &M &% T 97g
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38.

What are the modes of failure in
case of columns?

(A) Buckling alone

(B) Crushing alone

38. HICHI % WA § sraverar < fify @ 27
(A) 3TFS TRl
(B) 3%t FaeH

39.

40.

41.

(C) Both buckling and crushing
(D) All of the above

Providing adequate lateral restraints
in beams

(A) prevents lateral buckling

(B) prevents web crushing

(C) prevents web crippling

(D) All of the above

The slope of
relationship is

stress-strain

(A) shear force

(B) bending moment

(C) axial force

(D) modulus of elasticity

of allowabi

For determination
stress in axial compression,

42.

(A) Euler’s formula

standard has adopted &

(B) Rankine formula‘

(C) Secant formul *
(D) Mohr’s for &
What is th m of HSFG with

regard to bol

(A) High-strength friction grip

(B) High-stiffness friction grip

(C) High-strength frictionless grip
(D) High-stiffness frictionless grip

(C) e wd Furer A
(D) 39 &t

39. <vEt § wafy grvd PRI Yo ) W
(A) e sRfer Y Jepum e &
(B) A9 Furew Ht 3
(C) = ferufem # ?
o e

40. wWg-wq W T 2
(A)
(B)

e whieT § werl T % fukor %
ToT st W 3 argemn 2 -

(A) IR g
(B) ¥H a
(C) ¥rshe g
(D) 4R g7

dIeE % FERY I THo THo Tho o F
f &9 77 37

(A) 7% & e fig

(B) ¥ €ey e fig
(C) TR &~ fhawmerg Ay
(D) T EHg arew fig

42.

8201/NE-~JCV/RCE-M/12-A
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43. Which of the following is a way of | 43. Wd @wafia & & Wik # agm & g
increasing the strength of laterally e 4 @ S9-a1 w6 alem 27
supported beam? 5 &

A) AN & A HISH
(A) Increasing the section modulus (4)
; EEEI

of cross section
(B) Using high-strength grade steel (B) 3= Tfth HHS TEATd Hl FGER
(C) Providing lateral restraints to (C) <vel ’ qrea FYs 9eM R

beams h
(D) All of the above (D) ﬁ

44. Web crippling generally occurs at a | 44. ATERUGAT A Tt & 39 fog
point, where R &l 0
(A) shear force is minimum (A) uﬁa%:%

.
B) deflection is maximum
" . . . ( wfers @
(C) bending moment is maximum
(D) concentrated load is acting @ il ﬁi At 2

45, Under significant shear force, the (D) Hfsa S B T
bending moment carrying capa .
of a beam 0 45.@%@@@@%%

. Hewqul gfeee
(A) increases e
(B) reduces (A) §g S R
(C) remains unch&Q (B) H B ST &
(D) None of the%fle () smfafia e 2

46. Which one_%®o he following o5

statemeneﬁ to lag angles is (D) KRR
t: : axs
°°“"’°3\& a6. m Hw @ et FrefRad § @ A
(A) e e always equal angles Foe wE 7

(B) Thése are always unequal
angles

(C) These reduce the length of the
joint

(D) These increase the shear

resistance of joint

(A) 3 EHEN FHE HIT Bl

(B) 3 THIM STEHM IV Trell &

(C) 3 aTEe I ATE I HH R §
(D) 3 varEe < vier gy A werh §

8201/NE-JCV/RCE-M/12-A
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47.

Generally the purlins are placed at
panel points of a truss so as to avoid

(A) axial force in rafter

47, mmqﬁﬁqw;ﬂé&ﬁmﬁgﬁm

@1 ST @, a1fh =1 <7 W%
(A) W T el et A

48,

49,

50.

51.

H2p shear foree bnoroafter
(C) bending moment in rafter
(D) deflection in rafter

A beam splice is used to increase the
(A) length of the beam

(B) strength of the beam

(C) cross-sectional area of the beam
(D) None of the above

Stiffeners are required in a beam to
(A) reduce compressive stress

(B) reduce shear stress

(C) reduce bending stress

(D) avoid buckling of web plate

A fillet weld whose axis is parallel to
the direction of the applied load, 1
known as

(A)—end-fillet-weld— Q
(B) side fillet weld \&

(C) diagonal fillet wel

(D) All of the above *®

L 2
The tensile str concrete to
be used in t € of reinforced
concrete member is
(A) 0-2fu
(B) 0'1\/f ck

© 0-7/fx

(D) zero

(B) 19 1 widerat 9
(C) X & doh et @
(D) T T foreamm @

48. UF " werEw (Se) w1 sewer R s
?

(A) = =TS F FOR PR
(B) i\ s gman fere
(C) o &9 % JgH % forg

(D) IvdhF A oI T

49, v { TE B

(A 1 FH & fou
I HH FW % 1Y

% I B FH T F R
Q{Dj 9 RAE F TohleT § a9 ¥ form

0. T Wicle (4fear) s, R g v

AR ST - THAR R, S-S
(A) 3= iz dos F w9 &

(B) w&l Uizt dve &% w9 o

(C) forpol ufgert See ¥ w7

(D) 3wy wsft

51. ReTwide #fe dmn 4 fesmer # 3w

o6 ST AT iz Y a R 2
(8) 0-2fy

(B) 0-1/f;

© 0-7/fy

(D) =

SPACE FOR ROUGH WORK / % %@ ¥ Rt svg
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52. The main reinforcement in RCC 52. Mo Ho o S W=R T T

cantilever member is placed at frgwidtie wef B 77
(A) top fibre (A) i wrEER
(B) side fibre B)
(C) bottom fibre .
(C) wTeH HIEN

(D) top and bottom fibres )
(D) 3fid T a1eH HER
53. If x is the neutral axis constant for a

singly reinforced member, the lever 53. gt x feh ¥ fre e
arm constant is given by AR HS T

X
A)- 1< &
A 173 (A).I—S{)
\0
x .
(B) 1+= %(
3 pc
@ 3

© 1-=

6 OQ ©) 1—%

L 4

it ®\
3 x
D) 1+—
Q (D) 1+
54. In the case of siffiply pported

beams the effective spam should be

54, furgelt gads fim & ume @ T @

BT 1R
(A) clear ‘ etween supports
(B) di Detween centres of (A) %mwiﬁ
(B) TR ATH TUE % ALA Hl T
(C) distance between supports + . e
thickness of both the supports (©) oS F A A U ar *
(D) distance between centres of . )
supports + thickness of both the (D) ¥ % T % 7 g o+ EiS]
supports et & HIers

SPACE FOR ROUGH WORK / % M % fog S8
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55. The neutral axis of a T-beam

(A) always passes
flange area

through the

55. do-dfim =1 ~gza1 URyw
(A) AR FoIST & & TeRaT

(B) always passes through the web
area

(C) always at the junction of the
web and flange

(D) can exist in the

section

anywhere

56. The shear reinforcement in RCC
beam is provided to resist

(A) shear in concrete
(B) punching shear
(C) flexural shear

(D) diagonal tension

are used as distributi eel, then
its area in terms of %trdssYsectional
area of concrete is dlly taken as

(A) O 15%&'

(B) 0-12%

57. If high-yield strength dexm bars

(C) 15%

(D) 12%

(B) AWM AT & A oRaT
(C) THRM 3 TF Welsl F SaH W B 2
(D) ¥R & wel ot § wpar 3

56. 3o o o &y
TRy ¥ frg

*

ReTwrene fresh

(A)

%m

(D) ﬁawfama

57. IR eeiomm ia % v § er-fice g
e ar = swm fem osmr R, @
HAWAR W IGH TR Fhie ¥ wig-
YRS T % w9 § Ry s &

(A) 0-15%
(B) 0-12%

(C) 15%

(D) 12%

SPACE FOR ROUGH WORK / % %1 % fiu e
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58. 3Ro Hlo Hio ¢ Hiem § fgAwEde =i

58. The minimum  percentage of
reinforcement in RCC short column AR yfererd gar 2
is

(A) 0-8%
(A) 0:8% B
(B) 2:0% B) 2:0%
(C) 4:0% (C) 40%
(D) 6:0% (D) 6:0%

59. The minimum number of | 59. 3o Hio Hio Hem F AWA
longitudinal bars should be provided e AR A B =nfee
in case of RCC circular column is

wi O
(A) 2
(B)e 4
(B) 4 .
QWD
) 6
(D) 8

60. The ratio of Young’s modulus ’ = ﬁ@f e~ ¥ Eﬁm 13% e
clasticity for steel to that ST <l ST ST
concrete is known as . a) fafme U
A) specific ratio -

e @ (B Wepmagm
(B) modular ratio Q
(C) TR sigama
(C) elasticity ratio 3
: \ (D) @raas TgUTa
(D) Poisson’s rati
. Q; o 61. firm ¥ # 9 % w0 # wRef e
. Shear s% efined as the zone e ¥, sl
whe
(A) &orce is zero (A) I RS 8
(B) shear force is constant (B) fmr ®i Hiwee 3
(C) bending moment is zero (C) sifen arde Q-Eq%
(D) bending moment is constant (D) e Anfe Hiwee B

8201 /NE-JCV/RCE-M/12-A
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62. For prestressed structural elements, 62. Eﬁ@'@ TFRd Ttz &+ ferg 31?—@91

high-strength concrete is used HHT H YT TG A I TR ST g,
primarily because
(A) both shrinkage and creep are (A) g=a Ty Ot e

more -

(B) W= %9 B AferT g arfres 2

(B) shrinkage is less but creep is

more (C)‘ﬁ'@@'{?ﬁtﬁmﬁ@maﬂ
(C) modulus of elasticity and creep sfere reft 8

values are higher (D) HieIETE 31% TN ot we
(D) modulus of elasticity is high and T5h9 9 grar §

creep is low )

63. W-&Te R o o |
63. In case of pretensioned RCC beams ) )
: : (A) HHR H 003 % H &1 8

(A) shrinkage of concrete is of the .

order of 0-0003 (B) B A o

Kl

(B) relaxation of steel can be

ignored (©) *IA TH R G oS
(C) only one wire can be stretched H
s f o % aes @w W W
(D) even mild steel can be used for - & e R = Hehdl 2
prestressing Q
64. Deflection of b b tll‘ - W R <
- Deflection o eam can be contro ﬁﬁﬁa%mmm%?
by using the appropriate J
(A) aspect ratio Q (A) TP ST
(B) modular ratio \ (B) AISIER 3rguTd
(C) span ratio . (C) |« AU
(D) water-cement Q‘ (D) 9rHi-Htie 1guma
65. ?n a tvs{o—way &\,ﬂ1 torsion steel 65. ‘g’\-é Q9 § =ieh Sg T
1s provide .
(A) top () = .
(B) bottom (B) wren
(C) top and bottom (C) <M wd dien §
(D) middle surface (D) Aex 97 §

SPACE FOR ROUGH WORK / % &® & foru s
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66. The basic action involved in sheep 66. MU He e ®  @=-dt qd e
foot rolling is aftfera 37
(A) kneading (A) qu:n
'{'Bj_pT‘ESbiug ) (B ot - N
(D) vibration (D) 9
67. Which one of the following surfaces =
67. IR % FT@HE@ % N
will give the highest coefficient of ﬁﬂﬁf&;;: ﬁ?{q;{ ot wqE = wEw
traction while using crawler track o 3 &7
tractors? I '
(A) Concrete (8) Fhre 0
(B) Loose sand (Bl
(C) Loose earth (€ w‘ﬁ:@
(D) Firm earth GEd
68. Which of the following excavators is T § FA-91 3@ wod Al
most suitable for digging under Iug<h g T % o<t At urlt R '@E'Ff *
water? foru?
(A) Dragline * 0 (A) T ATH
(B) Hoe (B) W&
(C) Clamshell Q (C) e
(D) Dipper shove\ (D) S e
69. Which one ¢ ofy %“the following 69. F=fifad § & PH-T1 F9 a8 27
statements e correct? ) ) '
(A) Ba ay be crawler or (A) R g

Al R
B) R F N @A F fau aw

heel mounted

(B) Ba®khoe is more suited for the

excavation below the ground Fferh I B |

(C) Clamshell is used for excavating (C) T gl % I & fog Foase =1
soft soil FEHTE ToRe T B

(D) All of the above (D) Sl weft

SPACE FOR ROUGH WORK / & &M % 0T 9718
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70. Consider the following statements : 70. Fmfafad st w fEw Hifsu
A concrete mixer is specified by the T hehre e fifdy fomr st
I. volume of the mixing drum I fago SH F T F T
II. horsepower of the prime mover I E@W% Trdatat ¥ T
II1. vt?lume of the mixed concrete 11, seafl R S % s ¥ T
discharged
IV. mixer drum speed V. frsor 3 % 7id % 5
V. feeding arrangement V. et s %
Which of these statements are HH-91 FF T Y
correct? @) 1, 11w ()0
(A) I, II and V
(B) I, III and IV il I qu
(C) III and V
(D) I and 1V %
71. Grader is used mainly for T fobart ST 3
(A) trimming and shaping ¢ _&ﬁﬁm T Wi % forg
(B) trimming and finishin 7_»__(13)*@&“4‘2.3;%?3‘%?7,”
(C) finishing and shapu@ ()] Hiffsmr 1C) i % ﬁ-m
(D) finishing, shapin trimming (D) wIfAfEm, 2 wE Jiffm & fog
72. Thc' most S\@o type of 72. Gu fE % W ¥ fou watfrs I
equlpr.nents' . mpacting of THER F ST %
cohesive so
(A) vibrato (4) A Aer
(B) sheep-foot roller (B) Qﬂq'@?w
(C) tamper (C) T|
(D) smooth-wheeled roller (D) WI-Fieg e

SPACE FOR ROUGH WORK / % %M & fu g
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73. The working range of a crane is | 73. T o7 & afn & 1 R$ 1Rean fwe
limited horizontally for maximum lift % fou gieeeht diffa foram w2
only by the
(A) AT Fae T TEE T
(A) length of hoist cable
) (B) U (SfieT) =Y eivrs g
(B) length of jib
C) HRA 51 T
(C) counterweight ©
(D) boom length (D) et 1 T 7
74. The vibrators are used for Lt 7 ] T S
(A) compacting concrete (A) hEhIC (N
{B) proper mixing of concrete (B) W | fsror aﬁ%ﬂ’.
(C) removing excess water from (C) 9 fafes ol B T *
concrete
(D) obtaining smooth surface ﬁﬁb‘—ﬁ Hag I w1 % fore
75. Consider the following equipments$ U W TR Hifs
I.  Dragline X3 I m
II. Power shovel @ 1. 9R W
L Hoe &Q 1. et
IV. Crawler dozs\n V. S S
Which of the \4 ay be used for C o~
excavation ?rialsyand loading 3qi'| % H ¥ HH- TG % I T IR
them int% ol § @TeA 3 foTe gEamTer 6 S weha 7
A) 1, d I : (A) 1, 11 @& III
(B) 1 and II only (B) frk 1Td II
(C) 1I and III only (C) &k 11 W 111

(D) 1I, III and IV

(D) 11, Il @& IV

8201 /NE-JCV/RCE-M/12-A

SPACE FOR ROUGH WORK / % &M & fau v

22




76. What is the volume of concrete mix
produced, if a batch-type concrete
mixer of 1200 litres capacity takes

76. TF A9 % 3T & U AR w 99 =R
Fhe e 1200 R auar A
15 §H9 1 TH TWEh @ R, A

an effective time of 15 seconds for Ieqied bl e o 3TraT e Am?
one batch of production? '

3
(A) 28 m®/hr (A) 28 m”/hr
(B) 360 m3/hr (B) 360 m3/nhr
(C) 180 m3/hr (C) 180 m®/hr
(D) 288 m?3/hr (D) 288 m3/hr

77. A 12 m? capacity tractor loader ' 3 >

works at a site with an effective | /7° &P 1'2m A o
per-round-trip time of 60 seconds. et Eﬁ' W 60 T F AT TH
Effective delivery of excavated WH &R 21 Iafa gt
material is 90%. If utilization is gy 90 ufeerd ?)1 3fe ofy e
50 minutes per hour working, what 50 e =1 TeauTe B g,
will' be the productivity in a e § Ieareswar = Bf?
four-hour shift?

3
(B) 262 m? ¢ (B) 262 m?®
(C) 226 m3 Q (C) 226 m3

3

(D) 282 m & (D) 282 m?

78. Which one of ‘\ following
statements is/ar orl ct?

(A) Crawler Qi power shovels
hav% ed.
(B) Power Shovels are usable with

all classes of earth and rocks.
(C) Both (A) and (B) are correct

(D) None of the above

78. Tfefaa # @ S9-a1 o e 27
(A) SHITR-HT3CE UeR HIere i i 6 |

(B) @i =Mt F Tt wa St & forg wiw
HEe I E |

(C) (A) W& (B) 31wt §
(D) Gtrﬁ?sﬁ@aﬁé?aﬁ
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79. For

—

80.

81.

a given load rating, the
operating radius of a crane can be
increased by

increasing - weight — of — the

79. Ry Ty A W F faw A A

Premn wierd s w2
(A) TR % IS Sl TG

machine
(B) increasing engine horsepower

(C) increasing the length of boom or
arm

(D) operating the crane slowly

How are concrete mixers specified?

(A) By the number of cement bags
used in a batch

(B) By the nominal volume of
concrete that can be mixed in
a batch

(C) By the volume of water use

(D) By the volume of aggreg

A soil sample has

The void ratio at de d loosest
state are e 0-75 and
€min =0:25 1 e Yaboratory. Find

density index Or relative density
(Dr)-

(A) O
(B) 0-83
(C) 128

(D) 1-80

80.

81.

(B) I Y TR g
(C) =L T B AREATE hY TG
(D) it 7T @ S T HETEH

(A) 7 g fen o e
ARt e

@' % AT AT 6 FA S T
T o= # fifm foen s deRan @

(C) T=HTe fhU T 9t & 3TRIed o gR

(D) =T fHT T Wie & FA™ad & g

et gar ufoest it Wyam n=30% R
il RITeT ﬁ €max =0-75 Qa

€pin = 0-25, Ta1 FI oA Td el 3raeen

H % W gUl emfe W (D,) W
T GIHIF (I ) T HIT

(A) 0-78
(B) 0-83
(C) 1-28

(D) 1-80

8201/NE-JCV/RCE-M/12-A
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82. Sieve analyses of four soil samples

have the following four pairs of Dy,
and D;o values. Which pair shows
better grading of soil sample?

82.

Dgo Dro
(A) 175 mm 175 mm
(B) 900 u 475 u
(C) 15 mm 025 mm
(D) 175 mm 0:25 mm

83. A soil sample is found to have the

following properties. Classify the
soils according to IS classification
system.

I.  Passing through 75 u sieve 10%

I. Passing through 475 pu sieve
70%

III. Uniformity coefficient 8
IV. Coefficient of curvature 2-8
V. Plasticity index 4

(A) SW-SC PY
(B) SW-SM

— (C)-SP-SM— Q
(D) GW-SC &

84. Submerged unit we (Y sup) and
saturated unit weight\(y%,,) of soil
.

related as

Y sub % ......
(A) mul ith unit weight of
water

(B) divided by unit weight of water

(C) subtraction of unit weight of
water

(D) addition of unit weight of water

83.

84.

Fefafea & Dy, W Dy, (A ¥
) % 7 =R faftm ger aivest & ww
T T | FF-71 Srer e W wehiq
T 7

Deo Dy
(A) 175 mm 175 mm
(B) 900 u 475 u
() 1'5 mm 025 mm
(D) 175 mm

V. Yo ga&i 4
(A) SW—SsC___
(B) SW—SM

(C) SP—SM

(D) GW—SC.

W % T 5 R (y4y,) FOAE a0
HgH THE IR (y ;) T A SR 851 2

“ Ysub = Ysat-reereeee
(A) S % TR MR T PG
(B) ST % 31§ 9R 1 UG
(C) A % TS W I IR
(D) S o FHIE YR H1 I

8201/NE~JCV/RCE-M/12-A
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85. Compaction improves which of the 85. e d gal % fre o geR S €
following properties of soil?

(A) ST STV, TOTRIAT T Gdiesal
(A) Water absorption, permeability

and compressibility (B) %@ HHI, €g¥ 31 R Td q0HIA
(B) Liquid Iimit, saturated unit (C) Wigal, 3MMieeh oead Td  aFeM
weight and permeability AT
O ooy, e densiy nd |y g o
gy T
(D) Plastic limit, grading of particles
and shear strength 86. T Sia de Ade § TR R Vﬁﬁ
86. The height of rammer fall in & fiRmn S @7
;‘:odiﬁed proctor test of compaction (A) 66 (c)o
(A) 66 cm B
(B) 56 cm ( m
(C) 54 cm @ cm
(D) 45 cm

. YI&1 9y # W@ (Sluice) % € H T H
87. Compaction of soil near sluice in x ‘ > R REE] q HT 3= Tl 2
earth dam may be suitably dgne

(A) sheep foot roller (A) =T g2 Ter
——(B) pneumatic- or de (B) TR eRR _fmﬂ{
roller \& ©) .

(C) rammer
(D) vibrator 0\

(D) AR

88. YT UIh 3R s T H @y @
(A) koei!

(B) koci?

(©) koi

(D) k o< i?
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89. A sandy soil being dug has specific 89.
gravity as 2:6 and porosity (n) as
.40%. Critical hydraulic gradient (i,)
is
(A) 105
(B) 1-00
(C) 096
(D) 0-90
. . . 90.
90. According to Terzaghi, while
designing inverted filter for dam, D;s
size filter material must be more
than the size of base material.
(A) Dgs
(B) Dgq
(C) Dy
.
(D) None of the above
91. The hydrostatic pressur t s of
piezometric head can %e calculated | 91.
from which of following

equations (z = positfon\héad,

h = piezometric } % Yol

(A) hy =
(B) hy =h+

(€) hg =h/n,
D) hy =h/z

foelt Tefieht 721 & ger ) o }) wm
fafte w7 2.6 W wya () 40% B
il ST BT (i) B

(A)_1-05

(B) 1-00

(C) 096

(D) 0-90

TE F AR e T M o
D5 U & % ar 7 R
gaT O, % i & etftes g
=R |

Q (€) Do

(D) ST 7 & F1¢ 7

Faedfas A1 S 9@, ) AR 38 W
g, AmB e e gm

(z = Bfaes ¥id, A = deiiet ¥=)

A) hy =h-z
B) hy =h+z
€) hy =h/r,
(D) hy =h/z

8201/NE-JCV/RCE-M/12-A
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92. The soils susceptible to liquefaction

are

(A) saturated dense sand

92. F=fefae & @ wA-W TEr, FEEEW

‘(liquefaction) & Siedt T Bl 87
(A) T Fer feft g

"(B) saturated medium and fine
sand with uniform particle size

(C) saturated clay of uniform size

(D) saturated gravel and cobble

93. The slope of elog p curve for a soil

mass gives the

(A) coefficient of permeability and
critical hydraulic gradient

(B) optimum moisture content and
dry density

(C) compression index (C.) and
preconsolidation pressure

(D) coefficient of volu
compressiblity .
94. Some of soils kept at ¢ er

content which h st shear
strength, regains i r rémoulding

slowly with tim is Soil property
is known as ith pressure
application, ilg gel changes to

liquid removal liquid soil
chang 1 Yorm]
(A) otropy

(B) isotropy
(C) allotropy

(D) thixotropy

(B) UgH oW 3 HeAW el gar o
FON H AR TH-AT  (uniform
size) §

(C) Wgu THh ga1 faes ol 1 AR
TH-TT R

(D) Hqg sl

93. w;j@velogpaﬁﬁm
L 2

ITHETAN ST T [ o
(C) FidfE =¥ (C.) @ T HoH T
(D) A Heer o

4. Fo g afe wh fBR Jeim | Tl i,

A Y o g wmed [HRd B & We

YA G T R ARG TN
FEemar 8l -

[€E TG W S A sl 3R T W R
ERR|

(A) STt
(B) wrafdend
(C) Srusfuar an wnferad
(D) Fgafdar

8201 /NE-JCV/RCE-M/12-A
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95.

The appropriate field test to
determine the in situ undrained
shear strength of soft clay is

(A) direct shear test

95.

96.

97.

(B) plate load test
(C) unconfined compression test

(D) vane shear test

Which of
characteristic
failure?

the
of general

following is a
shear

(A) Failure with compressibility of
soil under footing with series of
jerks

sudden
footing

(B) Failure due to
settlement of
underneath

(C) Bulging of-mass of soil from‘ th
edges of footing and tiltin
footing

(D) ‘None of the above&Q
Wash boring is use x

(A) undisturbe 9011 sample

extracti
B) d ing in sandy and

gravel ils

(C) groundwater extraction for

irrigation

(D) All of the above

96.

97.

TR YR TH G N ATEA0 e
T = h fafy @

(A) TeIY ATEY Fheor

(B) ufgshr amor T
(C) it weftea weror

(D) 97 TTEYU ey

fefofea # ¥
F YR 7

fegeng 37

L 2
(A) fd gdied & @y @mEaR
T S

SATEIY]
fla H Tgwddr

IEHF g e

(C) Hi@ (footing) %B e gt a1 s
TH 2QIA

(D) ST & & 3§ T
gTe YT 1 JANT BT B
(A) @rfegey faet oTH A R

(B) FErdl S @, alt onf & el Qe
B 7

(C) Te=r 3 wfrma <ot Feprem & g
(D) 37w w+ft

8201/NE-JCV/RCE-M/12-A
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- 98. The envelope drawn in triaxial test

99,

100.

for shear strength of soil is

(A) is at 45° angle

98. Tal f yTEIY FHaT & forg Husfia whew

T T el §

(A) 45° % T |

(B) depends on soil’s
internal friction

angle of

(C) is vertical

(D) is horizontal

Undisturbed soil sample is required
for which of the following tests?

(A) Compaction test
(B) Permeability test
(C) Shrinkage limit

.
(D) Compressibility test

11qu1d
W curve is

During laboratory
limit of soil sam hc
drawn between

(A) l1qu1d d plasticity index
(B} Liqui it and number of blows

(C) number of blows and water
content

(D) volume of soil and water content

§D

99.

100.

(B) TET % e ayur o W urha

(C) FeAfeR
(D) &fast
stfagey o1 f=fafas fea
qﬁ&fﬁ ST 27
2
( g

3@ @M % T wlew § YaiR o
(Flow curve) Fm=fifaa & & oo a7
fRaa foram ST 27

(A) 9 €1 U Tefeefidt gashich
(B) 33 w1 wd mEmi i g
(C) AETal <l TEn TE S

(D) T T ARGH T ST

8201 /NE~JCV/RCE-M/12-A
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101. The degree of perfection used in the

101. 3gvn, Ty aiw saciew
faft &

T I

instruments, the method and the SH 9reh Tﬁan E3) ] T SET

observation is known as Srar

(A) precision (A) Res=

(B) accuracy (B) Y&aT |

(C) least count (C) w7 frFeh

(D) efficiency (D) & @
102. ;I;h:h};aﬁgifi ;f chain are connected 102. 39 % i’Kﬁg"ﬂé _§_q_§

(A) flexible joint

(B) rigid joint @W\?ﬁg

(C) ball-and-socket joint . (C) et iR Wlebe g

(D)-swivel joint Q (D)-feae sg-———— T

A

103. The length of revenu Xam is 103. 5= ’3@?*" & T R

(A) 66 feet )& (A) 66 B

(B) 33 fee (B) 33 %

(C) 100 feet (C) 100 %2

(D) 50 feet (D) 50 $ie
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104. The limiting length of an offset | 104. Tt < Wit s T =R

should be

n 5 (A) 5 m
B 15m (B) 15 m
©) 30 m (C) 30 m
D) 50 m (D) 50 m

105. The lines made of points having a 105. Q-Eq @ ) aTel ﬁ’-gaﬁ q

zero declination are known as S 8
(A) magnetic lines @ﬂ AR
(B) agonic lines (B) W&k g

*

(D) zero lines % (D) T @A

| il if

106. In an equilater ABC if the 106. T ﬁ‘gﬁ ABC ﬁ, B

bearing of AB 1s , what will be . T -2 e
the bearing A‘ (o) 150° }, @ CA &1 984 1 81

@A) 15 O (A) 150°

(C) gonic lines OQ (C) WW

(B) 210 (B) 210°
(C) 60° (C) 60°
(D) 30° (D) 30°
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107. If the reduced bearing of a line ABis

N 60°W and the length is 100 m,

then the latitude and departure will |

be

107. 4R Y@ AB & frggm foafn N 60° W &

3R =g 100 m R, @ Ty SR weuw
Tt

108.

109.

" is used where

(A) +50 m, + 866 m
(B) +866m, -50m
(C) +50m, -86'6m

(D) +707m, -50 m

The desired sensitivity of a bubble
tube with 2 mm division is 30”. The
radius of bubble tube should be

(A) 1375 m
(B) 144 m
(C) 1375 m

(D) None of the above

Transit rule of adjusting
consecutive coordiggtesﬁof_ at

(A) all  linear &ngular

measurements o erse are of

¢
equal accura
*
angular Qrements are

mor te’ than linear
meas ments

(B)

(C) linear measurements are more
accurate than angular

measurements

(D) None of the above

108.

109.

(A) +50 m, +86-6 m
(B) +86-6 m, -50 m

(C) +50 m, -86-6 m

(D) +70-7 m, —sc®

2 mm TH 99

qifesd g 30”7 3| ¥
D
&

1-44m

=E A
S H

(C) 1375 m

(D) 39w & ¥ % 7

Th ol & ARWRY wned H guEiE
F & qomA Fem o 3uEm e S R,
-

A) FE & wft W R wofg =7
TR TN % &

(B) =vfig w, Yas A ¥ sfte v &
(C) Ya= g, wivfim 7w § IR g §
(D) 35w & A I T
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110. Regarding a prismatic compass,
which one of the following
statements is correct?

(A) The object is sighted first. The
observer then moves to the side
of the object vane to take the
reading.

(B) Sighting and reading are done
simultaneously.

(C) The readings are taken from the
North end.

(D) The compass has an edge bar
needle.

111. A level when set up 25 m from pe
and 50 m from peg B reads 2:8
on staff held on A and 34
staff held on B, keep1
tube at its centre w
the reduced leve
283665 m 284295 m
respectively, what\is\the collimation
error per 10

(A)

(B) 0-300 m

(C) 0045 m

(D) 0060 m

110. fufes =rag & am #, Frkifaa & 4
HI-91 FIF FE R?

(A) g UEA @1 ST B, T WA ue
¥ foru stfesiae 99 & forR g 21

A@rzs m R G FA FIRTBE
50 m I g0 W & daa d e T R,
WH AR 2:847 m 3R B W 3426 m
TS gUia B USA % SR Sad F @
A Fx | W@ g, A A R B % T

W (gfem wew) wEN: 283:665 mo

3 284295 m %, WKW 100m i
HIFTHIA TR B

(A) 0015 m

(B) 0-300 m

(C) 0045 m

(D) 0:060 m
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112. The reading on a 4 m staff at a point | 112. T& ﬁ'flr_g’ 4-0 m W% W Yg- &l 2:-895 m
is observed as 2:895 m. If the staff * ®Y H Afesrd g1 9T 21 IR = wig
was 8 cm out of the plumb line, the W ¥ 8cm W B, @ €D I B
B correct reading should have been — e — -
(A) 2:8938 m (A) 28938 m
(B) 2:8150 m (B) 2:8150 m
(C) 2:8961 m (C) 2:8961 m
(D) 2:8950 m (D) 2:8950 m @
113. A telescope is said to be normal or | 113, Teh AShIg Y& FE WAl §,
direct, if it '
irect, if its 3R TS .
(A) vertical circle to the left of the (A s w F o 3R GEEGE
observer and the bubble is up 2
(B) vertical circle to the left of the HeF iR w ¥ 3R T
observer and the bubble is down ) T 2 i
(C) vertical circle to the right of 3 .
observer and the bubble is © quf &1:_;?; F T N L
(D) vertical circle to the %he s
observer and the {pubhle is up (D) e ¥ §El§él % T AR
\ Thel FW R
114. The operation e volving the .
telescope in add % fal plane about | 114. fereiy =1 Afest 9 # 8% Fealm gl
its vertical & alled TR YA R Skl 1 el ST @
(A) swir;lQ A) &=
(B) transiting (B) Ziffem
(C) face right (C) &H U5
(D) face left (D) ¥ A%
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115. A declination of 3° East means 115. 3° @éﬁwﬁmww%

(A) fl‘lagl‘lﬁ’tict l’\north is 3° East of (A) W—a IR YT THW F 3° 1@ 2
(B) magnetic North is 3° West of (B) Frerhr I H IR F 3° @
true North

(C) H&t I T IW & 3° [ 8

(C) true North is 3° East of

magnetic North :

(D) & e T % 3° 74 B

(D) true South is 3° East of
magnetic South

116. €& & % forg smfga # gefam
o W 1 e ST St @
116. The width of land secured and
preserved in public interest for road %
development purposes is known as
(A) carriageway B) T2 3%

(B) right of way PY ©) %f?éﬂwsq
\Qa’ (D) et T
(D) control line \ ,
2

117. 3UgH Je-AWeE Widwsed H TE=HT |
117. Identify th propriate grade-

separated §fit tion. .

\ (A) Tk aRrede

(A) I@mtersecﬁon
(B) Y-ufd=sa

(B) Y-intersection

(C) Half clover leaf interchange (C) T TR i T2

(D) Both (A) and (B) (D) (A) W& (B) Mt
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118. The registered society to collect, | 118. 291 & '{Eﬁ T ﬁ@aﬁ & é@na, ﬁmeT,

organize and disseminate all ey T o @ el gEmel ¥
information related to the TER 6 Siighd |G ?
development, design, construction
and maintenance of roads and frr 1) -
bridges in the country is the (A)
(A) National Highway Authority (B) TSWTM STgHe™ a1
of India

(B) Highway Research Board (C) W IREET T TSmrt Hoe

(C) Ministry of Road Transport and (D) R TS
Highways

(D) Indian Road Congress 119. TH T gg‘l'aﬁ WaEw &% YA *

feg 2
119. Governing criteria for selection of i

suitable alignment of a new highway ( T A™H

is

(A) safe and easy Q ) &

.
(B) short and economical (C) or=x A

—(C)-good-drainage — — Q Wﬁ@r‘ﬁ T .
(D) All of the above &
\ 120. FAR a6 § T oW % G@u F <R
opeble  grade e T s ghreia &

120. The maximum

considered d gnment of a

highway on & cal plane is @) it A

(A) limitin dient '
(B) faftre dfedz

(B) exceptional gradient

(C) minimum gradient (€) e

(D) ruling gradient (D) Tz Afede
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121. Transition curves are used to align | 121. TeHAUT dsh] o1 gEaTe FoRaT STar @ UM
the centre line of highways by N Fz w@iel 1 fem & fow Fefafaa
assuming which of the following A9 g T ol OFet?

o iens? -
_ , (A) TR & an

(A) Constant linear velocity

(B) Constant angular velocity (B) FRAT Hrf il

(C) Both (A) and (B) (C) (A) W (B) 3Hl

(D) None of the above (D) W& &

122. The tegt apparatus 'requlre.d for 122. 2 a% H g firg o ¥
measuring the softening point of T ST 6] STEE B 27
bitumen sample is & ’
(A) standard tar viscometer ;; AT AR e
(B) thin film oven apparatus Q (B) uaeht fben Sfram IueR

.
(C) ring and ball apparatu@O (©) T @ ate Sy
D) None of the abo - 3
(D) None Q (D) 3T § A HE 7

123. The bituminous Ision layer laid ) .
between grag ase layer and | 123. IIeR =@ WA T fegiia e o9 WA %
bitumino 8l base layer is s fogfme aeg wd K
(A) absorbing membrane (A) T FTERE R $ethe T

inverface layer
(B) prime coat
(C) tack coat

(D) seal coat

(B) WIgH ®ie
(C) 3% HIe

(D) Hit ®e

8201/NE-JCV/RCE-M/12-A

SPACE FOR ROUGH WORK / T &M % fou g

38




124. The method used to determine the
optimum bitumen content that
satisfies strength and volumetric
properties of a given bituminous mix

124. 3T AR H2 A Fuld =0 F g
A B T R, St Ru M wreEar

forsor <1 ifeh e SrgmTd ot Y wige e
2

is
(A) Marshall mix method
(B) Superpave mix design
(C) Both (A) and (B)

(D) None of the above

125. The safe stopping sight distance and

coefficient of lateral friction are
(A) directly proportional to each
other

(B) dependent on pavement surface
characteristics

4

(C) dependent on superelevati

and design speed

inversely proportio &ch
other \
.0\
Dol

The type of tr on® curve that
satisfies th&irements of
transition c%'

(A) lemniscate

(D)

126.

(B) parabola
(C) cubic parabola

(D) spiral

’

(A) wTsTer frsyor fafy

(B) gwua fsror erfirereq
(C) (A) T (B) A

(D) 35 7

125, g 3 T g8t T& T oy e

(C) fwewew Tifer Td guferaTe & ®q #
Frofeefia € ks

(D) TH-GW & YERAII &

HhHYT % H Sl GG F e ww
T T GH T

(A) Afewere
(B) rse,
(C) Rfferep AT

(D) wIetet

126.
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127. The height of the driver’s eye and

height of object for measuring the
safe stopping sight distance are

128.

129.

(A) 1'2m and 1'2m
(B) 1'2m and 015 m
(C) 0-'15m and 1:20m

(D) 0015 m and 0-15m

The maximum hourly volume at
which vehicles can reasonably be
expected to traverse a point or a
uniform section of a lane or roadway
during a given time period under the
prevailing roadway traffic and
control conditions is

(A) peak-hour factor

(B) density *

(C)_traffic volume@@

(D) capacity
éwding camber on

The objectiv
a carriag

@@

centrifugal forces

(A)
(B)
(€)

lane alignment

(D) segregate the traffic flow by

direction

&

127. glam @ A g g F oA & fo

<o % Al h I3 T g H SE ®

(A 12mUd 1-2m

128.

129.

e |
(B) 12m T 0-15m

(C) 0-15m T 120 m

(D) 0-15m1151'0§n

mmwé@awﬁ%
aeq, few % SR AT T ferg
7 EINTT & THURH YN B AT GSHh 9

3 sl B S ® fF UR W
) STfrehad HUS % AT W T

A T IR FeH A H I @

(A) Teeret

(B) ST i

(C) w= () frem

(D) T % gm0 oftee el 1 g e
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130. PCU is termed as 130. o Ho Fo 1 frga ww 2

(A) pedestrian car unit @ N d
—{B)passenger—ear unit ——
(C). percapita car unit
(D) personal car unit (C) ufd =afth R FohrS
(D) =RETT HR TS

131. Pick the correct relationship among
the following :

131. Fwfafaa & nex = =) g :
(A) Plinth area = Floor area \ *
= Carpet area (A) = TR & = FRIC &7

(B) Plinth area > Floor area >
Carpet area

Plinth area, Floor area and Carpet
area

= &7 > WK &9 > HE &

(C) Plinth area > Floor area < (C) fory & > wiR &7 < FRUE &
Carpet area
(D) Plinth area > Floor area (D) TocPr &1 > iR & = A
.
’Q 182. ST B Witz dehe 1 T R
132. Damp proof cour f cement 10 cm Wi Hiie T § fiftm it st 2,
concrete and dri utse 10 cm At STt R
thick laid in t mortar are
measured 1\ (A) = e T e

(A) squa%‘:e and metre
(B) X ug Hiex A

(B) metre and metre

(C) o MR w& o1 Hex #

(C) cubic metre and square metre

(D) square metre and square metre (D) i fiex w1 fiew §
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133. The minimum dimension of the key | 133. % WM &1 AW AW X THE § F7 T
plan shall not be less than X unit. BT TRY | X $hT8 1 9H B
The value of X unit is
S A} —70-mm -
(A) 70 mm
(B) 60 mm
(B) 60 mm
(C) 50 mm
(C) 50 mm
(D) 75 mm
(D) 75 mm
134. An item costs ¥ 38,000. Considering 134. T& H< .? 38,000 e
its scrap value as 10% of the cost T B Ay hHa H
and life as 80 years, find out 1 ﬁ'l"ﬁ T BB Hed A1d Eﬁﬁm,
depreciated value, if the life of the g 20 99 6l )
item is 20 years.
(A) € 29,440
(A) € 29,440
(©) ¥ 428 @ (©) ¥ 428
D) ¥ 3,960 /QQ D) ¥ 3,960
135. The measuremehx\nade in square
metre in ca R 135, ot ofiex & forgehi w1 st 27
(A) ge ndérete in foundation A) g die Fhre
(B) 1irzne concrete in foundation and B) fory @ fia ' el FHI
plinth
(C) half-brick thick partition wall (C) w1 g2 ) farore: e
(D) reinforced brickwork in lintels (D) ferea # Yefera fopash
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136. Pick up the correct statement from
the following :

(A) Honeycomb brickwork in mortar

136. fimfcfad & & wdt wom = ghy

(A) WX § wh-wir foras e § g
et 81

is_measured-in metre.—

(B) Plastering is measured in metre.

(C) Pointing is measured in square
metre.

(D) All of the above

137. If a property after being discarded at
the end of the utility period is sold
without being broken into pieces,
the amount thus realized by sale is
known as its

(A) distress value
(B) scrap value
(C) salvage value

(D) None of the above

138. The height of all roomsgor an
habitation shall not leSs than X
metre measured fro tx surface of
the floor to the 4dowgst point of
ceiling. .

The value ’\Q
(A) 2:5m
(B) 275 m
(C) 35m
(D) 2:25 m

(B) wamefa et # vt et )
(C) w@rEfdn =nf Hiex # A1t et R

(D) 3w w+ft

137. I Tk g Y gy |
BT W H 4 St @ oW
Wﬁ’Q ¥ I WE TR
O
(Q%Hw

ThY g

(C) &was Hex

D)~ 3ugth F q A1 T

138. Bd % e farg o &l Y wag @ v
W aft FW A S TP F @ fow x
HR @ F9 7 B =RY) X w1 wm R
(A) 25m
(B) 275 m

(C) 35m

(D) 225 m
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139. What is the minimum area of the | 139. TR (VR % €I¥) & =IaH & H G

kitchen (with store) suggested? fopa 27
L L (A} 452
(B) 55 m? (B) 55 m?
(C) 35 m? (C) 35 m?2
(D) 375 m? (D) 375 m? @
140. Random rubble masonry in lime | 140. f@m w 'Jl'g'%zﬁ et R =

mortar (1:2) in foundation and Ty s &
plinth is measured in @iﬁ

(A) square metre

(B) metre Q B) Wi H

. (C) T i |

(C) cubic metre %
D) quintal /<Q o) fa

141. The quantity oﬁxx required in a | 141. ©% fAer ot A fohan fhesrll (Tem)

litre of wateQ e =nfea?

(A) (A) 55 mg
(B) 74 mg (B) 74 mg
(C) 104 mg (C) 104 mg
(D) None of the above (D) 3T H | g T
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142. If the colour of water is light yellow, | 142. I So 1 @1 o) del ﬁ, q T” T

it indicates 0T 27
(A) the presence of ozone (A) N=i= it Suferfy
(B) the presence of chlorine (B) FRi= it 3ufedfa
(C) the presence of CO, (C) CO, = Iufeufy
(D) the presence of HCI (D) HC1 = sufdrfy @
T etetn o conseeative mahay | 143 3T %, S el
shall not be less than é;a"l%ra@{ﬁ . & T !
(A) 30m (A)
(B) 60 m 60 m
(©) 50m . (C) 50 m
(D) None of the above (D) ﬁ A QT
144. In chemical toilet, th c@al used 144. T9MEMe e # fw Ll
: garyr
18 'S
‘ .
(A) caustic @ (A) S drel
(B) stro&stic soda (B) & e et
(C) alum (C) T
(D) None of the above (D) Wﬂ?ﬁﬁﬁaﬁ?:@
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145. The dimensions of 50-user septic | 145. 50 et % fore afs 3 %1 w g }
tank are

(A) 2.3 mx1-1mx3-3m (A) 2:3mx1-1mx3-3m

B 23 mxTTmXT Im B} 2.3mxl.lmxl-lm .
(C) 1.5 mx2-8mx3-3m (C) 1.5mx2-8mx3-3m
(D) None of the above (D) @éﬁﬁﬁqﬁgq—a

146. Disposal of waste in town is done
using

146. R § Rt w1 T

I. dilution

[ qFsl 6
II. incinerator II Tﬂ?l‘l‘()
‘o
1. land filling °
I HUd
IV. composting Q
ARG | HCDIC TS

Which of the following is correct?

(A) I, II, III (A) 1, 11, 1II

(B) 11, III, IV ‘E O (B) II, III, IV

(C)_1, I, .1V (©) L 1, IV

D) 1, II, IV /&Q D) L, 1, IV

147. After collectmr;%( wage from the 147. TR @ vHEAA A GRS ‘@?ﬁ? wiz i

city, the s irst reaches to
which t sewage treatment st vge fobm e & o R7
plant? \ @) .
(A) well =
B
(B) Dry well (B) §T§ |
(C) ifewT &=

(C) Balancing tank
(D) Overhead tank (D) 3RS &
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148. Which is the correct water flow
diagram for a city water supply
system?

(A) Service reservoir — Intake well

148, R ot IR i wOwEE S § W@

g 1 g oo @
A) aide eEm—Rs Jv—

— WTP — Source

i Escgo dio Glo—Tg
(B) @lﬁ—)@ﬁ a_a'%mo o do—

(B) Source — Intake well - WTP—
Service reservoir e frsrafar
(C) WTP— Intake well —» Source — (C) &0 o qlo—3esh AA—HE—
Service reservoir LIEERISE
(D) None of the above (D) 39g® | &

149. In water supply systems, which | ) 49, EREGCA ﬁ?ﬂ%}ﬁ ATt = fra
combination will be the best option & Su?
which should be adopted by water Rl ’

i ?

supply engineerss? ( & g 3 100%
(A) Adequate and  dependable FARM & TS

potable water supply with 100%

revenue realization SERIE RN 50% ﬁ"’i FARA F

B3R

(B) Adequate water supply wit

50% revenue realization (C) Aftrh Sawer™ i’é’:q\ FARE ) T

——(C)-Ample water- suppl - — ST R —
realization is not ire (D) 35@?5 19 Eﬁlﬁ e
" (D) None of the abd &
X 150. 399 ¥% oy @ % T fRe weR %

150. Which type of % rig is being Teferm for =1 3w Bar 27

used to drill% pack tubewell?
A) IR Ueh fgfem fm
(A) Dire%ry drilling rig (A
(B) Percussion drilling rig (B) TR Tt e
(C) DTH drilling rig (C) o o wo fyfer for
(D) Inwell drilling rig (D) o fgfert for
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(8) Ty sehifwtar, (9) fRafdm e

_(10) . T §. widew
W% T 1 3% H1 ¥ wfi %l

2. W%wﬁquMR:ﬁ%

3. mmw%@% f

4. frelt oft e mam%aaqaqﬁarza
B I FAT A

5. OMR I®-9 & T8 Ha 09 W *E
FEEYE 7w /A Ed T8 we S A1 3E 91
1 foeae =R ug Wi e worasy a8 e @
S|

ft 150 T A 3AfeRa T T 9HI : 39w iftrwam 3t : 150
Time for marking all 150 questions : 3 hours Maximum Marks : 150
SET
= A
e NOTE
) 1. This Question B consists of
1. W ¥AY B e am E following Parts :
De ign of Steel Structures,
(1) fofedn wfww, (2) TR TR, Concrete and Masonry
. v . Construction practice,
(3) fesmn off% & = ®, (4) femir o anthg and Management, (6) Soil
FHRe T fel wax, (5) wgRm AEm, (7) Surveying, (8) Trans-
f e Wiz, (6) @ T @) 36 Ation Engineering, (9) Estimating &

Each question carries 1 mark. Al
questions are_compulsory. )
Indicate your answers on the OMR
Answer-Sheet provided.

3. Y mark will be deducted for each wrong
answer.

4. Use of any type of calculator or log table
and mobile phone is prohibited.

5. While using OMR Answer-Sheet, care
should be taken so that the Answer-
Sheet does not get torn or spoiled due to
folds and wrinkles.
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